

## College of Agriculture

(Sri Karan Narendra Agriculture University, Jobner)

# Kotputli, District: Kotputli-Behror Rajasthan-303107

F. No. COA/KTP/NSO/2025/18-6

Dated: 19.05.2025

## **Rate Quotation**

Sealed quotations are hereby invited from the individuals/firms/agencies for Sports Items (2025-26) for Games and Sports Activities in COA, Kotputli. The last date of submission of sealed quotations in the office of Dean, COA, Kotputli is latest by 12.30 PM on 26<sup>th</sup> May 2025. The tender will be opened on the same day at 3.30 PM.

S.	Name of item	Specification	Required	Rate Per	Total	Quoted
No.			Quantity	Piece	Rate of	Cost
				/Packet	Items	Including
						GST
1.	Football	Durable: Ball rolling: no seams, spherical,	02	900	1800	
		Made of leather or other suitable material,				
		of a circumference of not more than 70 cm		*		
		(28 ins) and not less than 68 cm (27 ins),not				
	*	more than 450 g (16oz) in weight and not				
22		less than 410 g (14 oz) at the start of the match of a pressure equal to $0.6 - 1.1$				
	÷	atmosphere $(600 - 1100 \text{ g/cm } 2)$ at sea				
		level (8.5 lbs/sq in to 15.6 lbs/sq in).				
2.	Basket Ball	Size 7 ball with a 29.5"   74.9 cm in	02	950	1900	2
		circumference diameter between 9.43"-				
		9.51"   pressure between 7.5-8.5 PSI.				
3.	T.T. Table,	Waterproof Massive Outdoor Table Tennis	01	28000	28000	
	Bat & Ball	Table with 100 mm Wheel and Blue colour,				
	with	1000 DX - 25mm (T.T) Table Tennis, Table				
	accessories	12 mm Top with 1 Net Set, 1 Table Cover,				
	D 1 1 1	2 Rackets and 3 Balls	OR (Dain)	1000	8000	
4.	Badminton	Shaft Composition: Graphite, Frame Composition: Graphite, Head Shape: Oval,	08 (Pair)	1000	8000	
	Racket	Weight: (85.0-95) gm, uni piece, with high				
		quality titanium mesh.				
5.	Badminton	Waterproof, 4-sided Tape, Portable,	02	4800	9600	
] 3.	Net with	Material Nylon/Plastic, Accessories- Height-	02			
	accessories	1.55m, Cross-section dimension, 40x40mm,	*			
		Pole Material Steel, Color-White powder				
		coated.				٠
6.	Badminton	Nylon shuttle cock with a foam base, Gives	06 (Pack of	1100	6600	



	Shuttle	perfect speed.	6)			
7.	Volleyball	Microfiber Composite Leather Spartan Suitable for: Soft & Rough Outdoor surfaces, All Indoor Surface.	04	1210	4840	
8.	Volleyball Net With Wive	Made with extra heavy cotton twisted netting, Length – 10 meters, Width – 1 meters.	03	1650	4950	
9.	Volleyball Net Antenna with accessories	Height 1.80m, Cross-section dimension 10mm, Material-Composite/fibre, Color-Red /white Accessories- Size: 3x4 Feet, Pole Material-Iron, Height-Upto 10 Feet and Surface Finishing-Powder Coated.	02	5000	10000	
10.	Cricket <b>Bat</b> Kashmir Willow	Short Handle, Harrow, Premium quality, Straight Grains, Lightweight design, Contoured edges, Perfect grip, Strong, sturdy and long lasting product, Delivers high performance, Made from good quality material. Height: 83-86 cm, Width: 11.30-12 cm, Length: 3.6-3.9 cm, Weight range: 1140 to 1200 grams.	02	2800	5600	
11.	Cricket Wooden <b>Stump</b>	Type: wood Stumps with Bails, Contents: 6 Pieces (3 stumps & 3 bales), Natural wood finish, stump height of 28" (71.12 cm) and width of 9" (22.86 cm).	01 Set	400	400	
12.	Bat Knocking <b>Wooden</b> Hammer	Wooden mallet for knocking-in preparations, Made of pure Shesham wood, Excellent and compact knocking, Highly Durable, Comes with two seamless heads, Comforts wrist and provides easy grip to hold the mallet, Designed to make bat knocking easier.	01	600	600	
13.	English Tape GM Bat Protection Tape	25mm x 10M; One Roll on header card; Manufactured and packed By: Delux Sports Company.	02	300	600	
14.	Wooden Grip Applicator	General Type Over grip, Material-Wooden, Design-Gripper, Dimensions-Length-300 mm, Weight-160 g.	01	400	400	
15.	Cricket balls tennis	Bounce height 4.45 feet, rubber material, red colour, Heavy weight ball Per ball weight (120-125g).	01 Packet (Pac. of 6)	60.00	360	
16.	Bat Grip SG	Soft feel grip with better shock absorption, Type: Bat Care, Size: Free Size.	04	120	480	
17.	Kit Bag (With Wheels)	Height: 34.29 cm, Width: 34.29 cm, Length: 91.44 cm, Weight Range:2300 to 2350 Grams, 600D & 1680D fabric, 1 Main Compartment, Heavy duty zip & Slider 8 no., Heavy silver wire, Regular wheel black, Heavy base with heavy outer trolley, Fabricated carrying grip, Runner Dory	01	1200	1200	



		puller.				
18.	Javelin	Rubber tipped javelins (not the regular	02	1350	2700	
		tipped). Cotton grip, 2.7 m long, Javelins				
		600 gms.				
19.	Stop Watch	Digital, Dial shape, Least count 0.01 sec	01	300	300	
20.	Basket Ball	Suspended 10'   3.05 m from the playing	02	500	1000	
	Net With	surface, standard rim diameter of 18"   46 cm with nylon net.				*
21.	Stand METIS Tug	Length- >35 metres (3x Sizes), Material-	01	4500	4500	
21.	of War Rope	Natural jute rope, Reinforced synthetic	01			
	or war reope	leather end covers, 10 cm (100mm) - 12.5				
		cm (125mm) in circumference.				
22.	Inflating	Air Pump for Football, Volleyball,	01	1100	1100	
22.	Needles with	Basketball Pump for Sports with Inflating 5				
	Air Pump	Needles, Metal/plastic.				
23.	Carrom Board	Wooden and Standard size, square playing	01	800	800	
	-	surface 73.5 and 74 cm. along each side,				
		with 11 x White Wooden Coins, 11 x Black				
		Wooden Carrom Coins, 2 x Red Wooden Coins (Queens), 1 x Championship Acrylic				
		Striker, 30g WCT Carrom Powder, Rule				
		Booklet and Nylon storage bag for coins,	e			
		striker and powder.				
24.	Measuring	50m Long, Made from premium quality raw	01	600	600	
	Tape	material, Offers ease of transportation and				
25	G1 : :	storage.  Polyester skipping rope 3 meter long.	02	400	800	
25.	Skipping Rope	Polyester skipping tope 3 meter long.	02	100		
26.	Dumbbell 2.5	Anti-crack rubber, Colour-Black, Item	01 Pair	700	700	
20.	Kg	Weight-5000 Grams, Material-Rubber Solid				
	δ	cast-iron core for reliable strength.				
27.	Kneecap	Knee Cap, Medium (Pair) Knee Support	05 Pair	110 .00	550	
	Hands &	(Black), Free Size, Ankle, Palm, Knee,				
	Foots (Boys)	Elbow Support.	Of Dain	110.00	550	
28.	Kneecap	Knee Cap, Medium (Pair) Knee Support	05 Pair	110.00	330	
	Hands & Foots (Girls)	(Black), Free Size, Ankle, Palm, Knee, Elbow Support.				
29.	Yoga/Gym	183L x 61W x 0.6Th Centimeters, Ethylene	02	300	600	
<b>2</b> 7.	Mats	Vinyl Acetate.				
		•			00.520	
		Total			99,530	

#### Terms and Conditions:

- 1. The firm should have GST number, PAN and authorization for the sale of sports items.
- 2. **Price/Rate**: Vendors must provide itemized rates in the financial bid, inclusive of all applicable taxes like GST.

- 3. **Additional Costs**: No additional charges for packing, forwarding, unloading, or transit insurance will be paid by the university. These costs are the responsibility of the supplier.
- 4. **Quantity Variability**: The quantity of items may be decreased, and items can be removed. The rates quoted in the financial bid will apply in such cases, provided they are justified.
- 5. Product Range: Vendors must submit a product range list with the company price list, authenticated by the respective manufacturer.
- **6. Payment Terms**: No advance or part payment will be made. Full payment will only be issued after the complete delivery of items in good condition and to the satisfaction of the COA, Kotputli.
- 7. Quality Assurance: All supplied items must be of high quality. If any item is found to be of inferior quality, it must be replaced by the supplier at their own cost. Failure to replace or delayed delivery may lead to the cancellation of the contract or Rate Contract (RC).
- 8. The articles should be supplied at F.O.R.

DEAN

#### Copy to

- 1. Comptroller, SKNAU, Jobner
- 2. Incharge, CIMCA, SKNAU, Jobner for uploading quotations on University website
- 3. Sports Secretary, SKNAU, Johner
- 4. NSO Incharge, COA, Kotputli
- 5. Acctts/Store Section, COA, Kotputli
- 6. College Notice Board

DEAN